W Hemuwverk - £, 4

29. (sec® t4and)(sec@ -tan) =4

sn*0+osto= 4

LH3 = (Sec® +Hand) (sec® ~domd)
fan®® + 4= Sec*®

: §ec2G — fan*G
= = (4an*6- sec?0)
>4 = RHS,

33. (smO+ees0) + (Smo~cosO) = 2.
LHS = (S nG "’CCOSQ)Z'\' (Sing- cos®)™
. <n*0 1 281n0c0s0+Cos* O +S G- ZsmOcos@ + ¢os*G
= 2520+ 2.¢05%0
=2(SIN%0 ¢ Cos*G
- 2 --Rk\'i .

39. 35IN20 + 40520 - 3, Ce52Q
LitS= 35w -4 Co520

= 3( |- cos?@) r4 (57 &
:3—- 20050 +4cos*O
2 3+Cs4O = RHS.



4. |- s*OG _ sine
s @

LHS = |- ¢s*C
| tSInG

= [ts

[tSing
| SInG-

L sin@ — cos?@
| SO

l+sing — ([-5\n*0)
| tsIing

21

5o +s1n2é
[HSing

- om0 (1+smd)
| tStng-

- SlV\.Q:Rﬂ'S‘

)

sec® . gin®
4_5 2 = 23anQ,

* CsCO cosé
L_.H‘S - g@___(@‘ ¥ §l_r_"9-

csc® (56
|
= B30 s
i
e COs&

= __L_.ém_‘.’it-_s_‘_"_‘g
050 | cosQ

snd + sind
e eeree®
0s® o5 @

u

- 4an0@ + fan®
= 24and =RL-J»§






53. 1-5n® | (seco 2
| tsSInG . ARy

LKHS = |-sind

/—d

[+SIng

[-on® |-sin@
|4sing  |-siné

| - 250 tsin’@

|- sIn*G

_ | — 251n8+SIn?*@
coe G

. ) 1Q
R sing@
Co costQ Cos+S

- 2 — 9
o0 — 2.1 5%+ Jan’@

oS & Cos©

- eec').@ — 2__5@(;@ ‘l‘O\ﬂ.@'{‘ '1'“”2@

- (SecE —tans) (5268 ~Hans)

= (seco *"’V\V\Q)L =RHS



HSING

LHS = don@+ e ®
[4SInG

= +&Y\@ . cos® l,-s‘r\@
[4Sin@ |—-sIn®

= +on® =+ (o0 (|-sing)
[-sin?*@

= Jan@® + cos @([-5Im)

CoS*©
- ?:S\i |- Sin@
cos &
= ———L““
059

~gece = Rﬁg



